



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(\frac{1}{4}\right)^3 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right) + \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) =$$



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(\frac{1}{4}\right)^3 + \frac{2}{5} = \frac{133}{320}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{7}{24}\right)$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{2} = \left(-\frac{71}{250}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{74}{125}$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{3}{5}\right) + \frac{1}{4} = \left(-\frac{7}{20}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{173}{750}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{16}\right)$$

$$\left(\frac{2}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{67}{125}\right)$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{3} = \left(-\frac{61}{192}\right)$$

$$\left(-\frac{3}{4}\right)^3 - \frac{3}{5} = \left(-\frac{327}{320}\right) = \left(-1\frac{7}{320}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{3}{4} = \left(-\frac{371}{500}\right)$$

$$\left(\frac{3}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{24}{25}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{3}\right) = \frac{1}{15}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{6} = \frac{1}{12}$$

$$\left(\frac{2}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{33}{125}$$

$$\left(-\frac{3}{5}\right)^2 - \frac{1}{4} = \frac{11}{100}$$

$$\left(-\frac{2}{5}\right) - \left(-\frac{1}{2}\right) = \frac{1}{10}$$

$$\left(\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{5}\right) = \frac{9}{25}$$